N = 746 N = 747 N = 748

746 circles in acircle

747 circles in acircle

748 circles in acircle
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radi us 0.034045509847  densi t

y = 0.864686168575 £ e radius =  0.034017224373 density = 0.864407150880 QESwae radius = 0. 033987891374 density = 0.864072216532 s
ratio 29. 372448951565 contacts = 1534 ratio = 29.396872273557 contacts = 1407 ratio = 29.422243027321 contacts = 1587
749 circles in acircle 750 circles in acircle 751 circles in acircle
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radius = 0.033964506911  density = 0.864041788675 radius = 0033932283108  density = 0.863549877691 radius = 0.033902376037  density = 0.863177696834
ratio = 29.442422137590  contacts = 1493 ratio = 2947046023497 contacts = 1790 ratio = 29.496457678906  contacts = 1476

N = 752 N = 753 N = 754

752 circles in acircle 753 circles in acircle

radius = 0.033870172859  density = 0.862685834350 DEser radius = 0.033847678650  density = 0.862686008568 Beser radius = 0.033822875295  density = 0.862566117494
ratio = 29.524502403897 contacts = 1645 ratio = 29.544123552089 contacts = 1712 ratio 29.565789167103  contacts = 1675

N = 755 N = 756

755 circles in acircle

N = 757

756 circles in acircle

radius = 0.033808749681  density
ratio = 29.578142032327  contact

BEsm radius = 0.033780696607  density = 0.862608410211 [ gome radius = 0.033769090449  density = 0.863246062624 [ ESmr
ratio = 29.602705108164 contacts = 1530 ratio = 29 612879313354 contacts = 1346



